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Read the paragraph carefully and answer the following:
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Pick out any two demonstrative pronouns from the passage:
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Pick out any two pronouns from the passage:
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Pick out any four nouns(masculine & feminine) from the passage:
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Write the detached pronouns: (3M)
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Write the attached pronouns: (3M)
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Write the attached pronouns for the given nouns: (7M)
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Werite the number names in Arabic: (5M)
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Write Demonstrative Pronouns (for near objects) with examples: (3M)
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Write Demonstrative Pronouns (for far objects) with examples: (3M)
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Werite any four occupations in Arabic: (4M)
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Translate to Arabic: (4M)

Tea

Coffee
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Translate to English: (4M)
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Translate the following sentences to English: (4M)

Sz b DY o ped (1

Bldb o (2

Ol b (Ss o1 (3

M\\MJLM@ (4

3k 3k 3k 3k 3k 5k >k 3k 3k >k 5k >k 5k 3k 5k %k 3k %k 5k %k 5k %k 5k %k 5k %k 5k *kok %k *k %k *k k




